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101. Three taps A.B and C together
can fill an emply cistern in 10
minutes. The tap 4 alone can il

- it in 30 minutes and the tap B
alone in 40 minutes. How long will
the tap C alone take to flll it 2
(1} 16 mimutes (2] 24 minutes
(3 32 minutes (4] 40 minutes

102. If 1 man or 2 women or'3 bays

© can complete a plece of work In
88 days, then | man. 1 woman
and 1 boy together will complete
it i
(1} 36 days ) (2) 42 days
(@ 48days 14} 54 days

1683. If the measures of ene side and
one diagonal of a rhombus are 10
em and 16 cm respectively, then
fts area in em 2 1s
(1) 0 2 54
[3) 06 {41 100

104: A cow s Ued on the commer of a
rectangular field of size 30 m x20
m by & 14m long repe. The area
of the region, that she can graze,

- 22

i!.'[uH e ?j ;

() 350m? [ 196 m®
Wi1sam? @) 22md

108, [Ifeach of the length and breadth
of & rectangle ia increased by 50
%, by what percent does its area
increase ?

(1125 12 100

5
(3} 55— 50
: ]
108. A cube and aaphere have equal
gurface ‘areas . The ratio of thelr
volumes &

i x:6 2 Ja:s

@ fsifr e

107. The diameters of two cylinders,
whose volumes are equal, are In
the ratio 3 : 2. Their helghts will
be in the ratio .
Mp4:9 25:86
5.8 489

108. The single discount, which ls
equivalent to succeasive dis-
counts of 25% and10.%, 1s
(1) 35 % (2 34.5%
@ 33% H35%

108. A teader marks his goods 40%
above cost price and allows a dis-
count of 25 %. The proflt he
makes, is : ‘
{1 15% 2) 10 %
(@ 5% %

110. With a 5 % discount on the coat
of sugar, a buyer could purchas
2 kg more sugar for T 808, Sell
ing price of sugaris ;
(1] ¥15.50 2 ¥ 15
[ T16.50 O R &0

111. The ratlo of two numbers is 3 : 4
and thelr LCM fa 48, The sum of
the two numbers s
(1} 32 12) 28
(3 26 ) 24

113, If 24=38 = 4C, then A; B: C s
ma:3:4 ° (@H4:3:2
Ae:4:3 WA 4:6

113, The ratio 4*%: 2%1s the same as
4:1 22:1
@1:2 41:4

114. 12 kg of rice costing ¥ 30 per
kg s mixed with 8 kg of rice cost-
ing § 40 per kg The aversge per
kg price of mixed rice is
RS wrav
#Hras LI

115, The ratio of the age of a father to
that of his son ks 5: 2, If the prod-
uct of thelr ages in years 1 1000,
then the father's age (in years)
after 10 years will be :

(1} 50 {2 &0
(3 &80 - {4} 100

118, The ‘average of 10 numbers is
calculated ag 15. It is discovered
later on that while calculating the
average one number, namely 36,
waa wrongly read aa 26, The cor-
rect average is
(1] 20 [ 18
K 16 1 14

117, The average of elght succesaive
numbers {s 6.5. The average of
the smallest and the greatest
numbers dmong them will be
(1] 4 @ 6.5
13 7.5 [CIR:]

118, Aman covers the joumey froma
statlon A to station B at a uni-
form speed of 36 km/hr and
returns to A with a uniform
spesd of 45 km/hr. His average
apeed for the whole journey is :
(1) 40 km/hr (2 40.6 kan/hr
(9 41 km/hr  {4) 42 km/hr

118, A cricket bataman had a certain
average of runa for his 11 n-
nings. In the 12th innings, he
made a score of 90 runs and
thereby his average of runs was
decreased by 5. His average of
runs after 12th innings is :
m1ss ' 3150
13 145 (4 140

130. If the coat price of an article 1a
805 of its selling price, the prof-
it per cent ia :
m20% @ 25%

(3] 24% i 25%

121. Due to an increase of 20% in the
price of eggs, 2 egga leas are
avatlable for ¥ 24, The present
rate of egfgs per dozen is :

(1) ¥ 25.00 - f2 T26.20
(3 ¥2780 () v2880

g
123, Mulmhmrdmedamtﬂnalﬁ

of its selling price and sold it at
8% mare than lts original selling
price. His gain per cent is :

(1) 20 % (2 18w

[ 10% R:L 0
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133, The porcentags of profl, when
an arths ekl fr ¥ 75, b vl
than when § la dokd for ¥ 60,
‘The cost price of the article 1s
1} ¢ 48 [HIN 1
) v 57 £ D

134. Avendor salls jemons ob the mie
of & for ¥ 14, galning therebnr
400, For hew ruch digd he buy
nlim-_uiunmu_'i"

[y £ 13 [y
[ r LR

138, Fasn sives 14% of his salary while
Shivam smves 23%. [hoth get the
eame sxlary and Shoyam saves §
1540, whad s the aavings of Ram'?
reo @yoso
i3 ¥ 80 ' (4] T 860

198, A's salary 1b 25% more than B's
dalary, B'a salary |a how much

Teas ks A ssiliry
11} 30 % 2] T4 %
Mm% WIS%

L27. The radius of niotreks is Ineressed
by 1% Hivw musch does the area
of the drele inereass ¥
i1 1% 2 L%
2% M 2.01%

L28. For an examdnation ik is reguirsd
1o et 36 W of maxinnum ourks
o pazs. Astudent got 113 marks
aursd Ehllesd ey 85 nearka. The s
Arerue rearka fir the cxisnination
e
111 500 1) 550
1) ses 1) G2

L. The sem of tee numbens s 35
and thetr H.C.F and L.C.M are 3
and 105 reapectiely. The sum
ol the meiprocal of the tw nur-
e will be ©

g
& o=

0 13 11

7 i

i T L e
L, When o number o civided by
487, the remainder obinined 1o
48, [T the sarme number bn divid-

e by 43, then the remadider
bt ined will e o

a @3
(1] 14 35
a8
mmg—g'rﬂﬂiuqudm:
1) G 13} 505D
(3 BoGas 4] oEaEy

o i

y .

o g o 2
.| LR M
133, How mamy %u together make
a

(1) 125 3 150
[3 250 (4] 250

134 Which of the following numbens
I the greatest of all ¥
04, 08008008
(1) 0.8 & aa
B oo #l ooa

138, A frartion harving denorminaior 30
B 7
and lying between 3 and 77 I

18 18
w5 @55
0 21
W3 35
T8 Tl
4 :
R el
i 2 6435
& e 4 2435
7. The lzast periect square mumber,
wiikch & divialbie by each of the
mrumipern D6 B0 and 24 1
1) 10 [ M500
3 6400 [ 14400

9
138, If xe— B, then the value of

11’-!1%‘]1&
i & [
1310 4] 12
19, The next mamir of the sequenice
Gl, 52, 06, G8,__ Is:
1) 75 7
-3 78 (4] B1

140, The wrong number of The as-
qu:ml,i.]i.ﬂ.ﬁ,lﬁﬂ,ﬂlﬁh
mies @7
[ 36 [V

i41: & men and 3 women togiher or 4
men together can compiete o
plece of work in 20 days.3 men
and 3 women will comglets the
ame work (n

11 17 days I.ﬁllsdiu.:.m' o

M 18dmym (4 19 duyn
lﬂ..ﬁ.ull.l:!.'llﬂrnhlm.hrlm

al @ speed of B00m/he. How

many accoads doca I ke w

croas anciherdratn. 170m kng

ntanding on paraliel treck ¥

[t 15.8 % 18.8

@ 1r2 4 13

143 Thres persons walk irom place A
to ploce B. Thelr are {n
kb rakle 4 33 : 5, The radia of the
tlmen taken by them to reach B
will] b :

15133 2:3:4
3 1533 12 g4 M 18 13

144, Al some rate per annum. the
compound interest on § 150 for
2 years dn ¥ 44540 The rate of
Intereat per anmm (8 ;

1] 10% [ 12 %
1 14 % [#15%

145, The diffaramne: batwesn the com-
pund meerest amd stmple nber-
£ of poee amaunt of maney for

% yeatn at 9 % per armum 2
T1Z660. The sum of meonay (8
{1 T12000 2 ¥13500
I P15 [ 716000

L. A s of money was invested st
o cerladn rabe of slmple tnleresl
for & yeara , Had B been Inweat:
ed af 1% hl.g.hﬂ'rltf. 1, weonakd
e febehed 724 maore inferesd
The mum of money 1 ;

[k} F1300 [Z] T1050

[3 T1000 (4] TOG00

Dirsetion [147-180§ ; The bar
graph. ghven here. shows the demizd
arwd procduciion of el (elevialons of

ThoE: Ciy for Dl s2ason inthe

year S008, Study the graph carefully

aured] ey Thee quieations baskd onthe
graph,

Desmand aad Prodiethos of Colowr

Telerisdons of Five Companiea.

Aumzer of pelenisiens

iz
=
=
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147, The ratio of the demand and pro-
duuction colour televisions of com-
panyElg: ‘
08:2 - @2:8
@2:1  @1:2

148, The demand of colour televislons
of company B is appaximately
what per cent of that of company
ce -
meo (225
@2 48

148. The production of colour televi-
slons of company D is how many
times that of company A ?

WL - @18
@15 was

180, The ratlo of companies having
more demand thai production of
colour televisions to those hav:
ing more production than de-
‘mand is '
m2:3 - @4:1
B14 . W32
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Ans: Numerical Aptitude

101 2 126 1
102 3 127 4
103 3 128 2
104 3 129 4
105 1 130 3
106 2 131 1
107 1 132 4
108 4 133 3
109 3 134 2
110 4 135 2
111 2 136 1
112 3 137 2
113 1 138 3
114 4 139 4
115 2 140 1
116 3 141 2
117 2 142 2
118 1 143 3
119 3 144 3
120 4 145 4
121 4 146 1
122 1 147 1
123 4 148 3
124 3 149 2
125 2 150 3




